
 
INSTALLATION INSTRUCTIONS 

BULL BAR PART#82501.21/82001.21 
2007 TOYOTA FJ CRUISER 

 
PARTS LIST:
1 BULL BAR 
2 BRACKETS DRIVER/ PASSENGER 
4 7/16 X 1 1/4 HEX HEAD BOLTS 
4 7/16 HEX NUTS 
8 7/16 FLAT WASHERS 
4 3/8 X 4 1/2 HEX HEAD BOLT 
4 3/8 NYLOC HEX NUT  
8 3/4 FLAT WASHERS 
 
PROCEDURE:

1- REMOVE CONTENTS FROM BOX AND CHECK FOR DAMAGE. VERIFY 
ALL PARTS ARE PRESENT.  READ INSTRUCTIONS CAREFULLY. 

2- LOCATE FRAME MOUNT FOR LOWER BRACKET (DRIVER SIDE 
SHOWN). INSERT (2) 3/8 X 4 1/2 HEX HEAD BOLTS, (2) 3/8 FLAT 
WASHERS. INSTALL LOWER BRACKET USING (2) 3/8 HEX NYLOC 
NUTS, (2) 3/8 HEX NYLOC NUTS (2) 3/8 FLAT WASHERS, LEAVE LOOSE. 
SEE FIG. #1 

3- REPEAT PROCEDURE #2 ON OPPOSITE SIDE 
4- INSTALL BULL BAR ONTO VEHICLE USING (4) 7/16 X 1 1/4 HEX HEAD 

BOLTS, (4) 7/16 HEX NYLOC NUTS, (8) 7/16 FLAT WASHERS. LEAVE 
LOOSE SEE FIG #2. 

5- LEVEL AND ADJUST BULL BAR AS DESIRED THEN TIGHTEN.  
 
 
 
 
 
 
 

FIG. # 1 
FIG. # 2 

7/16 HARDWARE 

DRIVER SIDE 
SHOWN 

3/8 x 4 1/2 HARDWARE

PASSENGER 
SIDE SHOWN


